HENGSTLER

ReEriE/Hotline

+400 110 7375

RHEIHHER Tzt (K2) BRAE
REHIEEXEAEF A28, 300385

http://www.hengstler.com.cn

@ B BRBTHERDE
AM34C

RERFM

Absolute Encoders
AM34C

Installation instruction
C € | |

¥#lS/Art No.: 703435-0001
E-mail:info@hengstler.com.cn

KR4 Ver. A

European Sales Representative
Hengstler GmbH

Uhlandstr. 49 D-78554 Aldingen/ Germany

www.hengstler.com

Fortive Setra-ICG Tianjin Co. Ltd.

Weiwu Road 28, TEDA Micro-Electronics Industrial Park
300385 Tianjin/ China

http://www.hengstler.com.cn

[l

1. 80

XA L0 TR B 1) 33 R ANTT 46 A5 ) F) 22 B
MAMBACHIEE T T LIRS BE 252, BRARIATEE MR T 3T -

1. Preface

These installation instruction are provided for the connection and starting
procedure of your hollow shaft encoder.

www.hengstler.com.cn

You will get further information from the AM34C datasheet, on request or
on download from our Internet site.

www.hengstler.com.cn

3. RE=FHRED /Assembly and Disassembly

REaESYR/Check list of items

PodhiE e I E, IR, SR P (3 M3xBIRET, iR 2E11)

List of items: encoder x1, cable x1, accessory package( Screw M3x8 x3, Plug x1)

B a4 L) £

fRTIERRYZER/Assembly

a) W Al 2 N R AL (LI g s 2o 25 T 5 AL e 2% T, A TIRRD

b) FHARTF B W AL Be AR B4 28, R RIUT (O SRt A8 e 6 T 5 FML e 26T A
c) Bl SEMBURET [ 52 i 25l (M= 0.8+0.1Nm )

d) 45 F LR TS W MIM3RET [ 5 4w g% (M=0.8£0.1Nm)

e) AR T BT MR & et e ey R FE 2, 56 B 2e e

HE: FREERTERR, ERERH.

a) Attaching the encoder (there is still a gap between the encoder and the motor plate)

b)By turning the plug counterclockwise with a screwdriver, the gap between the encoder and the motor plate
closes and the plug is lifted slightly

c) Fixing of the central screw M3 (M= 0.8+0.1Nm )

d)Fixing the M3 screws on both side (M=0.8+0.1Nm)

e) Assemble the plug clockwise with a screwdriver

Attention: Encoders are fragile items and should be handled with care.

@z. £#e

BERREAR
EARGBHCSHRAIRFHIE, FLARIGERLMR
FETRATEE T TZR%RIRED,
DEFERYHIE L (RIS

KRB KRR ERRPERTRE R e RIS .

IRERHRATIRIR,

-> FEAASE! EHREIREPHDEENIFR.
EPRMEFE R RIRIT RS

-> EE R RABIIRISEE R I,
BifAE: TdiEmmizs

->FHARTA LRI, SctDMFraRIRH BHRERIIF “ \i%?%ﬁ#‘ﬁ?ﬁ’ﬂﬁ%!i%@i%&BEZ’EEHEE.E%i&IHEL‘XP\]

MERRE!

EaEa (ESD)iSRIRIF R MBS

TEMEEERIREEIEEI. R, SEM=R

— PR RECRE. 5
> A EEMELR RS E B TR ! X

i SRR IF RIS

ERIRhE, GIANEFRORE, TIASEUCBRERERS

2. Safety

Authorized persons

The encoder should only be assembled and dis-
mantled by a qualified electrician, as the unit con-
tains sensitive electronic circuits.

Risk of injury due to rotating shafts

Hair and items of clothing may become caught up
in rotating shafts. Prior to commencing all works,
disconnect all power suppliers and ensure that the
working environment is Safe!

Risk of destruction due to ESD

Observe Precautions for ESD Handling. The En-
coder, including housing, is an electrostatic dis-
charge sensitive device. Do not touch plug con-
tacts or electronic components!

Risk of destruction due to mechanical shock
Violent shocks, e.g. due to hammer blows, can
lead to the destruction of the optical sensing sys-

tem and the ball bearings. Never use force! As-

$Rh9 s ¥/ Precautions

o
S

(SELV).

TEIRBAAREES %R, RetEEREERA.

IR A—PEMGLERRE L (B, N8 . iR
SHERMUARERR.

IR mADRRRIMIANIRE £, HERREMFSCER
EFHRECEIRR,

sembly is simple provided that correct procedure is
followed.

Risk of destruction due to overloading

->The unit may only be operated within the limits
specified in the technical data.

Fields of application: industrial processes and
controls.

Over voltage at the connecting terminals must be
limited to over voltage-class-ll values (SELV). The
connecting cable is not for dragline mounting, only
for fix mounting. This encoder is a supply part des-
tined for mounting to an appliance (motor, ma-
chine). Itis not provided for customer sale. Manu-
facturers integrating this encoder to their facilities
are responsible as well for compliance with CE

guidelines as for the CE mark.

a) HLRIARN, T-gmhidesill, T %aas Go Al e s Jegmig2sisa)
b) 4t % 22 2L TH TN L 4utid 2% 2 A2 FIAE ($30(+0.021/0))

¢) LA T AL )

a) Motor bearing on encoder side and requires a sealing cover for preventing grease from contaminating disk

b)Encoder mounting surface needs to be machined with positioning circular groove(¢ 30 (+0.021/0))

c) Use a torque screwdriver when assembly

NIW L

ERRRELHTSE{b/Use debug cable calibration

AT R R, RN R G A, TO RS F T B B AT R LA

With button operation, encoder can be easily accuracy calibration without a computer.

B
BEGERTRE, ERITERERE, LEREEIFHERY
R, BEHRMENZ, BSENISH (AM34CIREFH) .
please perform calibration operation to achieve
better usage results. Please refer to the AM34C
Operation Manual on the website.

D

ISR H 1T S 8L/ Use software calibreation

i F SCRF2. SMHZIR 55 (IRSA853E Br 2% 1% 132 L G

Connect to computer using an RS485 adapter that supports 2.5MHz baud rate.

@ Do

HENGSTLER a2
an

ans0 @ ]

MR TR sxe

EIEEAE, ERITRIERIE, MIRGEFNERRR. R
R ERAREHRERE, ESENiE (AM34CHE(E
F .

please perform calibration operation to achieve

better usage results. Please refer to the AM34C

Operation Manual on the website.



http://www.hengstler.com.cn/
mailto:info@hengstler.com.cn
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/

3. R%FRED /Assembly and Disassembly

{RABESIFEN/Encoder disassembly

a) IR T BT B e R i 2 285, HUF

b) 2 " P ] E B 2 MBBRET o
) K IE 52 S 2% MBHRE T

d) AR BT U 1 e 2 e 98, S Rl (LI g i 2 2B T 5 AL 2 e TR )

ER: RESETZHM BREEN.

a) By turning the plug counterclockwise with a screwdriver

b)Loosen the M3 crews on both side

c) Loosen of the central screw M3

d)Slightly lift the encoder cap until the plug rests on the encoder cap and then turn the plug clockwise

until the arrows come into alignment

Attention: Encoders are fragile items and should be handled with care.

4. BAREEE / Technical data

5. BSE#% / Connection diagram

1A SHIELD 1B £ Violet Calibrati
e E 5VE10% (SELV)  FRbERE -30°C~+80°C / e aibration
Operating Voltage Storage Temperature 2A / 2B / /
FRIRHAE Max120mA  T{REE -40°C~+110°C — —
Power consumption Operating Temperature el & Ble Sl - B/%  Blue/Black S
BEE 10,000 PRM BAIERNEE 85% 4A 1 Red +5v 48 Black GND
Max Speed Max. relative humidity
SRR AP +0.2 mm
Mating shaft axial move- .I .I
RFHEAEEBED TIR 0.05 mm
Mating shaft runout M (e D] (e BEERTES: THES
SN ENTHRER IP20
— &
Enclosure rating @ @ @ @
L1 | - | - |=
3
6. I EEXHS / Ordering information
7.1%3X
BS PR BtEBE W #0 R =
AM34H 1223 23bitsapE, 12bit%ZE A 5VDC I.0F o657 A -40° C .| A5 8 &HHEL+0.5m £
. . L, — +85° C
aBEE 0823 23bitzapE, 8bitZE 2.0T ¢8E7L AS BITRLSER
AM34L B 40" C
+110° C
EBE
7.2 English
Supply
Type Resolution Shaft Interface Temperature Connection
voltage
AM34H 1223 12bit MT+23bit ST A 5VDC Z.OF b A -40° C ..|A5 8 pole connector+0.5m
° I
High 0823 8bit MT+23bit ST Hub Shaft AS RS485 Compati-| &0 © cable
I B -40°
AM34L 70T 98 ble 0° ¢
+110° C
Normal Hub Shaft




